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Statement: Let us consider the real numbers ai
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Proof: 
One notes A  the left member of the inequality  and B  the right member.  One 

has: 
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where 
E = (i1,..., im ) / ik ∈ 1,2,...,n{ },1 ≤ k ≤ m{ }.  
 

From where:  
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Then 
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Note: for m = 2  one obtains the inequality of Cauchy-Bouniakovski-Schwarz. 
 


